Page 4
Draft prETS 300 ???: Month YYYY


3GPP TSG-RAN WG4 #102-e
R4-2205029
Electronic meeting, 12st February – 3rd March 2022
Source: 
Ericsson 

Title:  
Repeaters radiated emission requirements
Agenda Item:
10.5.3.2
Document for:
Discussions
1 Introduction

During RAN4#101bis-e, it was agreed that a requirement relating to output power within frequencies within the passband at which there is no input signal will be created. For the uplink, the requirement will apply per PRB and for the downlink per carrier. The level for the requirement remains to be agreed.
2 Discussion

The intention of the requirement is to protect in-passband BS and UE from interference coming from a repeater that has no input signal. In the uplink, a repeater may have no input signal because no nearby UE is scheduled. In the downlink, a repeater may have no input signal because the BS has scheduled another UE and is not pointing a beam towards the repeater.
A conservative means to set the requirement could be to consider the absolute ACLR. For WA this is -13dBm / MHz and for MR / LA it is -20dBm / MHz for downlink.

Since the requirement is in-passband, there is scope to be less conservative with the requirement if needed. For the downlink, if there is no UE scheduled close to the repeater then presumably the repeater will not cause a significant interference issue. (There could be inter-cell interference from the repeater towards a UE in another cell, but due to UE beamforming this is not likely to be significant). In the uplink, the BS is likely to not be pointing an RX beam towards the repeater and so not experience the interference.

Considering a noise figure of around 10dB, then -13dBm/MHz is achievable with up to 90dB repeater gain.

To keep a simple and achievable requirement, a reasonable way forward could be to set the limit for within-passband emissions with no input to -13dB for both DL and UL for all classes. This is similar to BS WA absolute ACLR and UE out of ban emissions. Although it is 7dB greater than MR and LA BS absolute ACLR, as discussed above this is likely to be acceptable.

Proposal 1: For FR2, set the “Passband emissions” requirement to be -13dBm/MHz for all repeater classes and both DL and UL.
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